Kp_)/ Math 10 Spring 2010 Quiz 2

Name: April 9, 2010
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3 (1) Simplify the following fraction until it has no factorials, ellipses (...), or obvious

cancellations: 5001 20! o)
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(2) 4 balls are to be drawn, with replacement, from a bin containing 2 red, 2 green, and
2 orange balls.
) Find the probability of drawing exactly one orange ball.
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(b) Find the probability of drawing exactly 2 red balls.
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G (c) Find the probability of drawing exactly 1 orange ball or exactly 2 red balls.
Remember our or is inclusive.
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